a(d cot(d))
5

(0 @) (rad)

P R ] O
10 L # +

"
4

R

100%- L |||||.

10

= [l o =
15 i : 1 IS
i L4 o |
10—0—0‘"‘1 -+ ¥ 1 |
. | |

-+

0.954 :
-1 2 3 —1 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamliné[f)

—s=— DQM_V0001_R000000001__Global__mkFitbasel_ RECO

—— DQM_V0001_R000000001__Global__mkFitbase2__RECO

- ~ 1
= 1] i
5 5]
2 =
= =
< -
> o
o =2
3 ©

1072}

0103 ;
I i : ‘ : :
S E : :
0.051 : :2 5 0.051 ‘ : :
10 ! TPlp?T (PCA t%obeamliné'f) 10 !

2 3
TPlp?T (PCA tjbobeamliné'f)

................................................

o p/p.)

107} I
-+
Nk J
.
|+
o102 .
= :
] f :
04 I
! 10 5
0.95L

—1 ; I : 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


